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WAIBIDR! afeaqs feara BIord JUfIYRT 37med ?

a) Ryl g b) P T c) qIfifes feeTesar ARESICRREIC]
EUIDIRCH S

) (a) Heh ?) (c) ®h 3) (a) 3T (d) 8) (b) 37T (d)
Which of the following are the sub-divisions of Western Himalaya?

a) Sikkim Himalaya  b) Kumau Himalaya c¢) Darjiling Himalaya d) Punjab Himalaya
Answer options :

1) (a) only 2) (c) only 3) (a) and (d) 4) (b) and (d)

QLT YSRIER SR 3Ted AR 3Teoddd.

37) TIIDe it Ioprges M.

9) gIEeD 9 AIGHIH WSHHS 3MMed AR SR

%) BIERA YR 3fehtH] 3MTSd AR 3SR

RS PIoret /o AU /AU sRieR 3R ?

9) Hhad 31 ) Thad 37 T & 3) Thad 37 IMIfOT § g) 31, §, 31T &
Horizontal Lava layers observed on Deccan Plateau

a) are formed by Fissure Volcanoes.

b) are due to limestone and sandstone rocks that made the horizontal layers.

¢) has Lava basic in nature

Which of the statements given above is/are correct?

1) Only a 2)Onlyaandc 3)Onlyaandb 4)a,bandc

PPV WIeTraT IR o SIRUT 3T ARY af hH HiasT.

9) TRAR, IR, SIS, TS R) TRAR, SRATS, ISR, TS

3) SRATS, RGN, URACR, TS 8) SIS, SRATS, SIYRI, URHTR

Choose the correct sequence of creeks in Konkan from North to South.

1) Dharamtar, Rajapuri, Jaigad, Devgad 2) Dharamtar, Jaigad, Rajapuri, Devgad
3) Jaigad,Rajapuri, Dharamtar, Devgad 4) Devgadh, Jaigad, Rajapuri, Dharamtar

g1, Bramat e game FifaRuTIaR Hieu [FARUSET Ueel PIURAT M TBRIT Hisdl ?

9) AM ?) BS 3) AW 8) AS

According to classification of climates by Dr. Triwartha, the climate of coastal region of Konkan
is of which 'type'?

1) AM 2) BS 3) AW 4) AS
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TERIEI et Teee e aTfieh TR Joirared] THIOAR SR shA AUl SRieiall arg
TR PIOTT 3T ?

9) DIV - W< - fagy - wRiedrer

Q) PRI - i - @RI — WRISaTSl

3) o - P - @Y - WRIGaTET

8) ARIGATEl — Wl - fagH — Pl

Which of the following is the correct descending order sequence of the regions in Maharashtra
in terms of annual average rainfall received?

1) Konkan - Khandesh - Vidarbha - Marathwada

2) Konkan - Vidarbha - Khandesh - Marathwada

3) Vidarbha - Konkan - Khandesh - Marathwada

4) Marathwada - Khandesh - Vidarbha - Konkan

AU AT fiegr /evear Neai 900% Himfed & Meest e @RId Ad 778 2
9) IiRETE M st R) BIR
3) ST 3o TReuft ) fEmer Il Jics

Which of the following district/districts does not have 100% geographical area in the Godavari
river basin ?

1) Aurangabad and Beed 2) Latur

3) Jalna and Parbhani 4) Hingoli and Nanded

TRy ‘@R SHIE GUROT AT T AR gl uATd 3TTe

9) fafesr TRPR Q) 3NsHIE, SUH

3) RUTT gPHAIMD PIFCT e ¥) DT BT

"Salut and Reclamation Project” in Maharashtra was aided by .................

1) British Government 2) OECEF, Japan

3) European Economic Community Fund 4) Commonwealth Commission

e Rieardie gos, g a gl dge paNel aRkig amRd ?

9) R Icure ) SIHMIEE I

3) hIHISC 3YIcH 8) gFAge 3cUIeH

Murud, Roha and Shrivardhan tahsils of Raigad district are well known for :
1) Chikoo Production 2) Dolomite Production

3) Cromite Production 4) Bauxite production

TSI BUD! POl STTCArAT ST HERTEI 3@

q) geI, @ie, e, R Q) firg, Tis, PIBM, HAH

3) 9, aRI, <, BT ) TS, PG, MRI, SuT
Which of the following tribal communities are found in Maharashtra ?

1) Munda, Khond, Bhumis, Uraon 2) Bhilla, Gond, Kolam, Katkari
3) Baiga, Boro, Chenchu, Khoya 4) Santhal, Kola, Garo, Lepcha
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90) TERIE DI BRUMS TC SIHEEI 3N ?
a) GiForUc, TR
b) PHWH, SUGY ISMR, dTed IS

) IR, g™

d) fremr, SR

RiSUdH Do e /s sRER 3R/ 31Rd.

1) %h (a) R) W (a), (b) 3) &b (o), (d) g) ®h (b)

10) Why is the population density high in Maharashtra?
a) Mineral Resources, Irrigation
b) Agricultural development, availability of labour, growing industries

c¢) Vegetation, Climate
d) Education, Health
Which of the statement/s given above is/are correct?

1) Only (a) 2) Only (a),(b) 3) Only (c),(d) 4) Only (b)

99) aEAT SATENRIDIPRUTHS ~Afile AT HHIUTIET SR diR HRAM DR ...
q) T Hichdd AT AU R Il
Q) ot AN (resource) FrRIfA FRar.
3) T AR (resources) HITdh! ¥ad:hs Sadd.
8) T AU AR AT Tfshe e HIel 7gU aTuRdld.
11) Increased industrialization exhaust the natural resources in abundant quantities because
1) As they destroy these resources during the process.
2) As they export them.
3) As they own them
4) As they use these resources as raw material during process.

97) URTRRIT S5l Wleflel DIV T aRIaR 3Med ?
a) TR & SHfdew g Yifts gafaRumd s¥is1 3.

b) e v U &3 @ ava.

¢) IR il IRETLT T AT 3.

d) R Sl Sifde, Hifie g 9 THE gcd 3.

g SR :

q) Hh (c) g (d) RIS AR R) Eh (a), (¢) T (d) RIS AR
3) Wt (b), (¢) T (d) SRR 3T ¥) W SRR 3T

12) Which of the following are correct about Eco system?
a) An Eco system represents the sum of all living organisms and physical environment.
b) Eco system occupies certain well defined area on the earth.
c¢) Solar energy is the most significant source of energy.
d) Three basic components of eco system include, energy, biotic and abiotic.
Answer options :
1) Only (c) and (d) are correct 2) Only (a), (c) and (d) are correct
3) Only (b), (¢) and (d) are correct 4) All are correct
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SATFeigth qoi=] US| dig 7

9) 0% I MU 0% TR SIIIAZS FHIIE

) €0 fhaT V0% HTHR SINFASS MM g0 fhal 30% ARSI IANaAZS AHATIE
3) 0% ARSI GRS MMM 0% Jfifador AT

¥) Q0% 3fffaxTor T 90% Bfer—H FHIIE

Whatis acid rain ?

1) Contain 80% Carbon and 20% Sulphur dioxide.

2) Contains 60 or 70% Sulphur Dioxide and 40 or 30% Nitrogen Oxide

3) Contain 80% Nitrogen Oxide and 20% Oxygen

4) Contains 90% Oxygen and 10% Helium

GTefierdeh! &Id T8 IR DU JATed 2

a) Op b) NoO c) COp d) DHy
EUIDICONE

1) (), (b), (¢) R) (b), (0), (d) 3) (©), (d), (a) 8) (d), (), (b)
Which among the following are greenhouse gases?

a) 0, b)N,O ¢) CO, d)CH,
Answer options :

1) (@), (b), (©) 2) (b), (), (d) 3) (¢), (d), (a) 4) (d), (a), (b)

wfaRer fovge gfgean Simfas gRecred e Il Tt et ?
a) qfaRulig veyul, SEfie @ RIS ugul

b) 3@y, by, BRGUE URUMH

¢) dTeBacIehRul, IR, HHIUTT

d) gRaTg uRemH, 3MsF &, e

RIBUDT DIV U/ fauT aRIeR 3712/ 3fied.
1) (a) B R) (@) a (b) ®th
3) (a) T (d) Bh 8) (¢) 9 (d) Bh

What issues were discussed in the 1st Earth Summit on Environment ?
a) Envi-pollution, Industrial and Chemical pollution.

b) Drought, Earthquake, Green house effect.

c¢) Desertification, Flood, Land degradation.

d) Green house effect, Depletion of Ozone, Acid rain.

Which of the statement/s given above is/are correct?

1) (a) only 2) (a) and (b) only
3) (a) and (d) only 4) (c) and (d) only
RIfdep I WIS AeBedT TGS ...

q) oft avq] STt dgwia frdt Fife St aed TEs.

R) ot oy SIfHeR digdes degr ol fRfast Sootl pHTes 3Ri.

3) T RGN TTRT Il BHId PHI BT STTSe.

8) T IR TS Foidles o g AT Foidios e Irdt aRieT T IRTe.
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For an object released from some height ..........

1) the mechanical energy goes on increasing till the object reaches the ground.

2) potential energy is maximum when it reaches the ground.

3) the kinetic energy goes on decreasing.

4) the sum of the change in kinetic energy and the change in potential energy is zero.

faR[daTeemrar fageRIY &1 T aTgehTT Wielield! Piurem Hifre IR saeey r™al ?

a) fagcrarge e ot b) fdegdargerrar i AT &=thes

¢) fercargardt wmaft d) feggcrargera qromH

RITUD! DU AUF SRR IME?

1) (a) ®h 2) (b) ®h 3) (a), (B)3MM (c)  4) (a), (b), (c) 3MMM(d)

The resistance of a conductor depends on which of the following physical conditions of the
conductor ?

a) Length of the conductor b) Area of cross section of the conductor
¢) Material of the conductor d) Temperature of the conductor

Which of the statements given above is correct ?

1) (a) only 2) (b) only 3) (a),(b) and (c) 4) (a),(b),(c) and (d)

gl QT fAUTUehT Pl 377w 3TTe 2

37) 3T 3fch FEUIST 3TU] heehIciies. UHUT T HReT.

q) 3] IR TgURST 3] hoabldiics TUT U d RIGTd! A,

9) e 3 ?) had § 3) Qvgl of 3MT § 8) Qal AR
Which one of the following statements is/are incorrect?

a) The number of protons in a nucleus is called its atomic number.
b) The total number of protons and neutrons constitute its mass number.

1)Only a 2) Only b 3)Bothaandb 4) Neither anorb

WSS iy P e gehr g ?

9) SERG 3R B AT SORIARUMATS! aToRdTd.

R) UG ITPRIG T T4 TPRAT SR UL 3R,

3) S eiedpRlc § AR AT UhITRIT TR S,

8) SRIBH SBRDIG g ATURUYY ACHEES SO cIthiel FgU JTI=aId.
Which of the following statements is false?

1) Diethyl ether has been used as a general anaesthetic.

2) Ethyl alcohol is present in all alcoholic beverages.

3) Methyl alcohol is produced by fermentation of sugar.

4) Ethylene Glycol is commonly used as antifreeze for automobiles.

gTefier faam argrdia nfor caTyHTor [T

a) A1) fRIIAR 8Id 3RTd. b) TUC IR SFHAMT IIS AT,

R SR :

9) (a) WR (b) @ R) (b) R (a) AR 3) el R AR ¥) qal Ib 3Med
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Consider the following statements and state accordingly :

a) There. is metamorphosis in fish. b) Flat fishes are not born flat.
Answer options :

1) (a) 1s correct, (b) is not 2) (b) is correct, (a) is not

3) Both are correct 4) Both are incorrect

SHFES ! Faferd A ara forgr.

37) IR, JHOR, ITMR AT NG5, 9) Heul AT qUrITS! SuRtt

%) I qUIBRI AT 3TGasi. g) IRRM goi - e,

gt SR :

q) (1) T () ) @), @a@ 3 () a@) 8) el TG
Write the true sentence/s regarding Osmanabadi Goat.

a) Found in Latur, Tuljapur, Udgir Taluk b) Useful for meat and milk

c¢) Mostly brown colour d) Body weight is 22-24 kg.
Answer options :

1) (a) and (d) 2) (a),(b) and (¢) 3) (a) and (b) 4) All above
Jerffa P BRI SRR 3R ?

37) MRty Ulds 37 & TRT FgU[ IUYI 3TTed.

9) A gadlle T (TRICe) fRRIRU PR

&) T Al YIUgT URT.

) TPRSRA HEAT FHH B

i} SR :

9) Hhad 31 ) Had § 3nfor & 3) Bad 31, §, MO & B) Bad
What is/are correct about legumes?

a) Legumes are useful both as food and fodder.

b) They fix atmospheric nitrogen.

c) Suppress weed growth.

d) Require less quantity of phosphorus.
Answer options :

1)Only a 2)Only bandc 3)Onlya,b,and c 4)Only d

TR SOHE Teh IR B BlEHCd Fhicd SHT BIdTd e ... UL,

9) R Q) fexean 3) Sfctpciisgd ) Cid
The calcium carbonate crystals are deposited at the free end of the stalk of the plant called ......
1) cystoliths 2) gums 3) alkaloids 4) tannins

AT T BRIREUT B o7 PR o= favd feada, a) & IR-31aveh Juideardiadl srfsnd

.......... UG

9) qUfeRst O ST9asT Q) fevar O o 3) fyeer T foaeer ¥) oed o fRfestt oret
Healthy broad leaves will show green color when observed under normal color film, but they will
show ............. colorin IR (Infra-Red) color photograph.

1) Brown to purple 2) Green to Red 3) Blue to Yellow 4) Red to Magenta

TERTY SRTSTUFIT WaT & W8T (T ) / (TE &) 03/ 1



)

25)

Q%)

26)

209)

27)

W)

28)

For Private Circulation Only

fafdy fReneramefies HepeumT Mo AR JieaT FHELGR HiMifesep ATfecht ToTest @ I3 faepRid avuard
S L. AT THAF .......

a) fafdy QYT e e AT A1fEdt Aeuvl auRar .

b) 3ich TIRRUIT ARIHIT ATfech=l et ot & ureifie wer 3R,

¢) . . T, Rber T AR frooe ik AR aRdT A .

d) fafeer Toeurdies Aifeadia aifgdt aroroarrdt yem o iR 8o JTadd 3R

RIGUDT DI /DI fIerm= /3 sRIsR 31Mg/3ed ?

q) (a) 3T (c) ?) (b) 3mfor (d) 3) (c) for (d) 8) ®h (b)

Geographic information system is a technique developed by incorporating concepts and contents
in various fields of study. In this technique ........

a) Statistical information can be used from different sources directly.

b) Registration of statistical information in digital form is the basic need.

c) Statistical information obtained from GPS or secondary sources cannot be used.

d) Statistical information in various forms has to be fed to a computer before it can be used.
Which of the above statements is/are correct ?

1) (a) and (c) 2) (b) and (d) 3) (¢) and (d) 4) (b) only

....... gl SEhed 9 Aegs forTad SITaRfcn Rived YR HoaR SeiRd afie, Sit Sl foresy Amhd
C-DAC , I9I3 TIR holell TR,

9) g1 (HOS) Q) 91 (BOSS) 3) s7e (INDOS)  ¥) 3ffeT fea= oM.t
.......... is a Desktop and Server Linux Operating System with Indian language support derived from
Debian Linux developed by C-DAC, Chennai.

1) HOS 2) BOSS 3) INDOS 4) All India OS

3N TH 3 Alsh AYUS PO BOR AR FUBIDheed] Blaed Ubcatd HUTR PRd 3T RRER
OIS Tt gl Sieuft ahRal ?
9) IffCAPIT B3R Q) A F3R 3) Fcdd B3R ¥) Scl foh SR

What is the layer in the OSI model responsible for breaking a file into packets at source computer
to be transported to receiver computer where they will be reassembled ?
1) Application Layer 2) Session Layer 3) Network Layer 4) Data Link Layer

LTHIBUED] DIV TPR BT GaaRur T fSiiee fifsanelt weft amr amfor e srawur axvar
SUIRT S=al ?

) ARG T R) AR 3) ARG ) ARSI

Which of the following is used for exploring appropriate and ethical behaviours related to online

environments and digital media ?
1) Cyberethics 2) Cybersafety 3) Cybersecurity 4) Cyberlaw

TERTY IRTSTUT WaT J&I TRET (e ) / (e &) 023/ ¢
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IR G ARRGNIS T 1a IRFI—HdT fIBRIT bt 3MTR. IR WAy IT fawfidt A
SIS Ad NIeeTp =T $-AogR Bosarid! g, IRFY WA 8l Alfed! Fad: T $—He IR
SRARAT 7 W Regifirpryiea $-Hesar ol fo5gT Wrd 3-HegR Uiofie! e, fiARf ar eregrar aref
DT ?

9) s5h P PIU Q) BIEE PIE PIUT
3) s>~p PIe Pl ¥) e PE-T Prdr

Health department has designated an innovative health service for citizen.The department wants
to communicate the details regarding this scheme to all district collectors of the state via
e-mail. A single self addressed e-mail was sent by the department with e-mail ids of all district
collectors through the "bcc" field. What does the word "bec" stand for?

1) Black carbon copy 2) Blind carbon copy

3) Blank carbon copy 4) Bold carbon copy

3MEISe CaIBIS AT HUH HRATT U IMMUBS THTSHS 998 e Ut . AIYLTd 1 BRI ?

1) ¥R ?) 3FeTpT-TYX 3) TI-CIR 8) ReT-caes
What is the first cloud based tablet PC solution launched in India by Oztern?
1) E-tutor 2) alpha-tutor 3) X-tutor 4) B—tutor

WgaTerdl RUPIaR BRI IRUMH glal ?

9) RIS gl ) dier gar 3) U @ ¥) gRumg =8
What is the effect of inflation on debtor ?
1) Benefited 2) Bears the loss 3) Exploited 4) No effect

TeSiBuD! PRt dfdney fagsft worisft el amR ?
q) facelt Pof <eft o7 aToeT URAths aRaT A, R) faceft ol hid! SR
3) faceht Foige veger foxfla amor fomior @1, ) aiosUdT PIvrrE! TE.

Which one of the following is the characteristic of an external debt?
1) They are payable in domestic currency.  2) They are compulsory.
3) They result in direct money burden. 4) None of the above.

W AT SR SR ¢ JEIUH 31T,
q) 3N IR 3T JeddT GayRacT Prul.

R) Tl AT ST IR el gReiaRur o
3) YRS IS QUIRITG! SURRIISHT R,
8) SRR WIS ATSAT U,

The function of foreign exchange market is ................

1) To provide small capital finance

2) To transfer the funds from one country to another country
3) To control the rates of consumer goods

4) To increase international tourism

TERTY IRTSTUT WaT §&I TRIET (e ) / (I8 &) 023/ %
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gTelid SiiedT e

D I
31) Sfe_T 3marT AT (TAY) i) 9R¢Y-cg
§) STaTeR ISR AT (JRY) i) 9%¢o
%) USRI I FRNIR I (SGSY) iii) AjRR
3) Ui I fde™T drisd (IRDP) iv) 9%¢R
g IR :

@ @ @ (3
) @O av) dmn dn
V) O dA) @v)
3 A dm avy @
g) (AV) dh (@O (I
Match the following pairs :

D (ID)
a) Indira Awaas Yojana (MY) I) 1985-86
b) Jawahar Rojgar Yojana (JRY) IT) 1980
c) Swarnajayanti Gram Swarozgar Yojana (SGSY) I117) 1999
d) Integrated Rural Development Programme (IRDP) IV) 1989

Answer options :

@ () (¢ (d)

H I IV I I
) M 1. T W™
3) T W IV I

49 NV T I I

PIUT THRIIT PRI HHDH HHd Scaedar e fhar 30T e/ d ?

q) T TBRI Q) T=EH dBRI 3) Gt TBR g) S BRI

In which type of unemployment the marginal productivity of labour remains zero or negative?
1) Cyclical unemployment 2) Disguised unemployment

3) Open unemployment 4) Seasonal unemployment

HRATS YA R AIGH TT SING NUEToIS PeaTdies Fea 1o ULsi. (LPG) /T diae Suare!
DI IS AT ST ?

9) TUTEAT R&T T FeET

Q) JUFH ISt AT (PMUY)

3) g Sfiaq savdt fogr JemT (PMIJBY)

Q) T RIS BT i1

Which scheme is implemented by the Indian Prime Minister, Mr. Narendra Modi for providing
free LPG connections to women from BPL households?

1) Pradhan Mantri Suraksha Bima Yojana

2) Pradhan Mantri Ujjwala Yojana (PMUY)

3) Pradhan Mantri Jeevan Jyoti Bima Yojana (PMIJJBY)

4) Pradhan Mantri Garib Kalyan Yojana

TERTY IRISTUT WaT J& T8t (T 9) / (1€ &) 023/ 90
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T AT YRATNS TSGRt STRIRITERe STRTIBIERUT, ISRIGRUT T WISHIEhRUT Wl Iudh! PIoTclt
Sfewl quf et 2
a) 3IfReh i (PHTR) FHH o
b) PR M TRI dredul.

¢) Ut PHTRTET HRIYR aTgau.

d) cresecredT Ul debd HIMIRIAT ‘M ATel, dad ATal df STeRewd v,

Tt SR

9) RIS Fqd Q) (a) 3T (b) v  3) (b) 3T (c) Bad  ¥) (c) 3N (d) Faa

In the study of "Lack outs in India' Datt concluded that following objectives were achieved in the
era of LPG.

a) To bring about reduction in surplus labour.

b) To increase work-hours for workers.

c¢) To increases workload per worker.

d) To force workers to accept 'no work no pay' for the entire period of lackout.

Answer options :
1) All the above 2) (a) and (b) 3) (b) and (c) only 4) (c) and (d) only

"MATY g STt JTErd faHT AT 2094- 9 FEHIT Wiatiatud! Dot e /faum gavt amea 2
37) WIGRTET U G, FAN . QI ARG Jeba HRUTS fHoda.

q) Ao Breada Fyul fCaaraTe & ST AR Sk,

&) T ISFYET ATBIIT T AT Feeps AT IeRIIAT SRACART T AT AT v HeuIR ATel.
g) omreffar ave 97 90 I WY 9N & 3.

g SR :
9) pae (31), () T (H) ) P (9) T ()
3) Ppaw () 8) e () 9 ()

Which of the following statement/statements is/are incorrect regarding Gopinath Nkunde Farmer
Accident Vinka Ngmojana 2015-16?

a) Accidental loss of the account holder Rs. 2 lakh as compensation.

b) The scheme is applicable for the entire day during the scheme period.

c¢) Farmers will not be able to get the benefit of crop evaluation if the farmers have submitted
their crop to the Food and Agriculture Organization prior to crop evaluation.

d) The age group of beneficiaries is 10 to 75 years.

Answer options :

1) (a), (b) and (c) only 2) (b) and (c) only 3) (c) only 4) (c) and (d) only

AAPR!, IR AT eI SN, T PN IATCAT RS, PIaviied do1 T*d dievll geara
o prIfATet arRard. & difediar SN

37) ey qug e Hediean Iedted ST g,

§) ST IoTRUSTHED TR i fRreuarard! grdl.

P) IUAHE AT JIEUIRT ST Pl

3) N A4 PRI Hed P

IR 9 faer -

q) (31) 3T (9) &k ) (9) 3T (P) Bk 3) () 3T (D) Fh ¥) (8) Beh

TERTY SRTSUTIT W1 &I wRIeT (e 9) / (e &) 033/ 99
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Farmers can make use of market information to plan agricultural production, harvesting dates and
post-harvest operations. It helps

a) in production planning based on short and long term.

b) in obtaining better prices for products in the market.

¢) in stabilising the income.

d) in all the above works

Choose the correct option :

1) (a) and (b) only 2) (b) and (c) only 3) (a) and (c) only 4) (d) only

9) ISIfacfi GRor FRIET g R

Q) BT anfor ug fEmr 9 e

3) Irfior g SRATERY YT Sfh Harar foRaR

Q) YR I FEBRT St RIeIor g FRi=oT

Monetary functions of RBI are related to............

1) control and regulation of fiscal policy

2) control and regulation of money and credit.

3) extending banking facilities to rural and semi urban area.

4) supervision and control over commercial and co-operative banks.

D RT WT&(‘HT GY SR IR 3-i<{I\J‘ILI’>ICD g ?
q) AT SeRED Q) RS eigeuAe  3) IO SiqeuEd.  8) I el

What the Government Budget exhibiting more expenditure than the income is called ?
1) Balance Budget 2) Surplus Budget 3) Deficit Budget 4) None of the above

a) SIS DA YU ATEPIYANT IRl I<UIG PRUTAT ¥ d HETH JENEET I S0,

b) AR ST Fala MU e < B,

¢) At T AR JNABYT IRV LML S ISAR {01 gl IS 16 e,

d) @l 3T Aauehret HfshdT Biaufiar ol

T PO SRR, GISHRRI T STRIBRRY (Tesdisfl) Hfeeean ST omed ?

9) (a) AT (b) Hh ) (b) 3T (c) Heh

3) (c) smfor (d) weh 8) RN Ad

a) By permitting entry of multinationals in consumer goods sector, the model has hit the interests
of small and medium sector.

b) It emphasised a bigger role for the public sector.

c) It bypasses agriculture and agro-based industries which are a major source of generation of
employment.

d) It delayed the process of private investment.

Which of the above are fundamental weaknesses of LPG model?

1) (a) and (b) only 2) (a) and (c) only

3) (¢) and (d) only 4) All the above
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‘YR A’ UhcURIcHd Wiolss fAuM/faum sRIeR 3med
37) IS T R TR AHGARI f$Ries ao.

) AR Nieamdis dd amuard $iies w=uard o,

@) TR ANH] TOIT-COIM TRUTISHT &gl Jafdes! ST,
¥) TSR SUHY JEfIUIR TERTE § Qe Uahid oY 37T

gt IR :
9) (31) T (3) IR ) (B) T (3) WeR
3) (31),(®) T (3) WK 8) (31) T (F) WK

The following statement/statements are correct regarding the Bharat Net Project:

a) Digitization of all 29 thousand Grankpanchangmati in Rajngam.

b) Digitization of all Grankpanchangmati in Nagpur district.

c¢) The said project should be implemented step by step in the municipal area as well.
d) Ngaharashtra is the only state in the country to implement the said sub-paragraph.
Answer options :

1) (a) and (d) are correct 2) (¢) and (d) are correct

3) (a), (c) and (d) are correct 4) (a) and (b) are correct

SITfIRIARUTRT R faeelt T FIodeR Ry IR ST ?

q) faceft T TeadT a6 ST R) facelt TeTaread ac !

3) PIEIE IR ST TR g) focelt ToTIeT I ]

What was the effect of Globalisation on the foreign exchange stock ?

1) Foreign exchange stock increased 2) Foreign exchange stock declined

3) No effect 4) Foreign exchange stock became zero

Hfeg ol /fasge It A1 AT JFeSTavidiel UftedT eviHe) Wielietuen! droredT e
FHIAYT HRUGTT 3T ?

q) AR, ISR, HSRI, TifeAT, TeRRiet, auf

R) O, UIlER, ISTIRRI, TSfRRIe, TgRaR

3) SFRIE, 3feplell, eTelum, drefd, JacHs, auf

¥) ATIRI, Ael, PleggR, gol, i

Which of the following districts were covered in the first phase of the 'Integrated Agriculture/
Integrated Agriculture' programme?

1) Nagpur, Chandrapur, Bhandara, Gondingma, Gadchiroli, Wardha

2) Thane, Palghar, Ratnagiri, Gadchiroli, Nandurbar

3) Ankravati, Akola, Buldhana, Washink, Namwatankal, Wardha
4) Satara, Sangli, Kolhapur, Pune, Nashik

YRR el Basedid E o 9 [T § I ST Jesar
-37 -q
a) fafesr sTgen i) SIRIEU ug
b) SIS ISTgeT i) FACAT Qg AUTRRT gh doh
c) sifegfesardl IrgeesT iii) ARfeied aw
d) MR IsTEeT iv) Pfeme gaw
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gt I :

@ (b (c) (@)
1) (@v) (@) (i) (1)
2) () (@i (i) (@{v)
3) (i) (v) () (i)
4) (i) (1) (@v) (iii)
With regard to the sources of Indian Constitution match List - A with List - B

List-A List-B
a) British Constitution 1) Post of Vice-President
b) Irish Constitution 11) Joint Session of Two House of Parliament
¢) Austrilian Constitution 11i1) Directive Principles
d) American Constitution 1v) Cabinet System

Answer options : :

@@ (b) (o) (d)
1) (@v) (i) (@) (1)
2) () (i) (@i) (@[v)
3) (i) @v) (@) (i)
4) (i) (1) (@v) (i)

EA R qE) Ul HEAIGORIIGAR i ioRUer ST ‘TG AT §F el JISgEeTed] YRR
HIE PRUGI AT
) A%0R R) %13 3) ajus 8) 9%0%

The term 'Secular' and 'Socialist' were added to the Preamble of the Constitution by a constitutional
amendment in the year ...............

1) 1972 2) 1973 3) 1974 4) 1976
A - (PoW) B - (qusfi®)

a) 92 d 34 i) TGO Hfsha

b) 42 T 949 ii) P TSRS RIS

c) 34 d 3%0 iii) ST gD

d) 3&¢ iv) armofterft fawe dRgd

gt SR

(@ () (¢ (@
1) (i) Gv) () (i)
) Gi) () Gv) ()
3) (i) (1) (D) (@v)
g) (i) (i) 1) ((v)
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Match the following pairs with reference to the Indian Constitution :

A - (Article) B - (Particulars)

a) 12 to 35 1) Amendment Process

b) 52 to 151 11) Provisions related to Union Government
¢) 352 to 360 111) Fundamental Rights

d) 368 1v) Emergency Provisions

Answer options :

@ () (o) (@)
1) (i) Gv) (1) (i)
2) (i) (1) @Gv) (1)
3) (i) (1) @Gi) (@)
4) (i) (1) (1) (@1v)

AT §eRRATe! JSATST DIUTRRAT A2 TRAG dRal A ?

9) Rem ) TP

3) Rean g 1o 8) DIV g,

In respect of whom does the Constitution allow the state to make special provisions for quality?
1) Women 2) Children

3) Women and children 4) For none

WTHIBUD! DIV S AU SRIER 37Ted ?

A) 9rieeie dwErdl HGISTEauiTS] ~=IRITSATd SIg ARTAT Ad ATal.

B) 9I&Y9d g AR TR0 AT,

C) IS g1 RIS TREU 3T

D) qricefe araiedl SHGSSauiet —RTSAT Se qRTaT .

gt SR :

1) (A), (C) R) (A), (B) 3) (B), (D) 8) (C), (D)
Which two of the following statements are correct ?

A) Courts cannot be approached for implementation of the directive principles.
B) Fundamental rights have no judical protection.

C) Fundamental rights have judicial protection.

D) The courts can be approached for implementation of the directive principles.
Answer options :

1) (A), (O 2) (A), (B) 3) (B), (D) 4) (C), (D)

TS fau™ v

37) HERTE BIH-IdT RN Fede g AR (FRgh! AT, ISIUTSIhgT bol I

9) HERTY SIh¥idT AN 37eTe] T Aerd (el 931 €2 ay fohar ST g1 an quf gleal wid — el
S omeft IS T 3N RASS AR.

RIBUh! DU/t fIe /3 SRIER 3mg/d?

q) thad 3T ) Had § 3) eramfr ¥ ¥) I ATEl
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Consider the following statements :

a) The Chairman and the members of the MPSC are appointed by the Hon'ble Governor.

b) The age of retirement of the Chairman and the members of MPSC is 62 years or completion
of 6 years in service whichever is earlier.

Which of the statements given above is/are correct?

1)Only a 2)Only b 3)aandb 4) None of these

IR-Yd ITHDT DIV ARAT ISTHR  SRIET RN UGl SAReceara 3mg ?

q) fEIRM, UTEae U 3nfd Aners

) orumad uew, ffesd amfor Ammels

3) Rifed, Brgx onfr derem

g) B, #arerd smfor AnTers

The Inner Line Permit (ILP) system exists in which of the following North-East Indian States?
1) Mizoram, Arunachal Pradesh and Nagaland

2) Arunachal Pradesh, Sikkim and Nagaland
3) Sikkim, Tripura and Nagaland

4) Tripura, Meghalaya and Nagaland

Wi faum U

3) I RIS et Fgerd gt BRrd.

9) I RIGANS Ted d R ~arnefierid Fgedi a7 €2 a¥ 7.

%) Ied ARIGIKNS RN FRen Iguciihg (fead bal S

RNIGUD! PIUTT I SIS 3fed ?

q) 37 3ffor § ) § anfor & 3) 31 IMfir & Q) 3, § T &H

Consider the following statements :

a) The Judges of the High Court are appointed by the President.

b) The Chief Justice and other Judges of the High Court retire at the age of 62 years.
¢) The number of Judges of the High Court is determined by the President.

Which of the statements given above are correct?

I)aandb 2)bandc 3)aandc 4)a,bandc

IROUTES TQAME T3] Tl Aedid Jele e faar @

AU (A) : I SIS Bdes! AT Joiacat RIpRT ~ared= fufdciear wad aa g
SR (R) : YR AU FIees 369 TR SIUSH! Giedl HRIGET g doedl Bl
PICER BRATS URIT ARE e T g,

EUIDIRCH S

9) (A) 3T (R) Q7! I 3L (R) & (A) T A ST e

R) (A) 3mfr (R) el A 3RET (R) & (A) T AT YRR AT,

3) (A) 3 IR (R) AT AR,

8) (A) Mfor (R) St gehrar 3meet.
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In the context of events unfolding in the Arunachal Pradesh, consider the io!lowing statements :
Assertion (A) : A state Governor’s recommendation in relation to the imposition of President’s
rule cannot be scrutinised by a court of law.

Reason (R) : Article 361 of the Constitution gives the Governor protection from legal action for
acts done in performance of his powers and duties.

Answer options :

1) (A) and (R) both are true and (R) is correct explanation for (A).

2) (A) and (R) both are true and (R) is not correct explanation for (A).

3) (A) is incorrect (R) is correct.

4) (A) and (R) both are incorrect.

I AR tal iftaeTis dacd d6d STl Jeids STaeMThiNal SRideedT Uiged ol
TRIG I SR 3R AT U,

q) SAgT Hfg=aTe R) 9 ST 3) o mfgmaman 8) 9 TfgwmaT

There should not be the time limit of more than ..... between the last meeting of the session

of State Legislative Assembly and the first meeting of the next session of the State Legislative
Assembly.

1) Six months 2) 1 Year 3) Three months 4) One month

PIVT HSHIAR RN I @ H SRISUIT SIRIBR FH<H MM ?

9) PAH F. 9 (9) ?) dHH . Q3B (R)

3) ®H q. % (3) 8) PAH F. R4(8)

Which article given right to Parliament to decide the payment and allowance of Judges?
1) Article No. 221 (1) 2) Article No. 223 (2)

3) Article No. 224 (3) 4) Article No. 225 (4)

RMETchiuereT Fasuhe) WSIGuh! PIOeT HAGH el I 18 ?

9) Fagd 3 Blpddd A Q) Fagd 3mmehes ISTHY T

3) fau uReey e ) Tyt pIofEr

Which one of the following does not take part in the election of the President ?
1) elected members of Lok Sabha 2) elected members of Rajya Sabha
3) members of the legislative councils 4) none of the above

HERTY AR Y07 RO A 9]R10 AT HARAST H! Bl ?
9) FARADHRT GURCN RN RIpReATET 1IRT aRuare!

Q) IHUARICAT UIRIHT g 3N STeiaell 31T SRugRATS
3) TRUMGHI T HEFFRUTISDT TieT STehlcaTad 1A BRUIRATS!
8) fieer uRYe Faeud JURUTETET STRIRT FHRUIRITC!
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The Maharashtra Government appointed Bhushan Gagrani Committee in 1997. What was the aim
of it ?

1) To study recommendations of Administrative Reform Commission.

2) To study about administrative and Financial matters of Gram Panchayat.

3) To study about Octroi of Municipal Councils and Corporations.

4) To study election reforms of Zilla Parishad.

gTAAUDT DIUrht g gy sregeid Brf gl ?

9) f7egr yRYSH o6 TISEu g LTSRN FIBRo PHBIST TSI,
R) Fregr aRucdt dra anfor srf¥ela arger a quToT,

3) 3Mffep qretaR 30T HrRIATEaR R0 3.

8) TEIHRIIBRITEl MU 37EdIcs JEIHDhs UIoiiul.

Which one of the following is not a function of the President of Zilla Parishad?

1) To summon and preside over the meeting of Zilla Parishad.

2) To see and check the documents and records.

3) To superivse and control financial matters and the administration.

4) To send the confidential report of Chief Executive Officer to the Chief Minister.

FHIG STHIMYROT HIIETE e DO 2

q) AT g SHIA Fepfosd BV Uiy sTesor

R) IS STH YR BRI SIRAET dobear Sifiies SRR Y ToRi gHaw ol
3) AT =R URITUT o

Q) WIS T4

What are the objectives of Land Ceiling Act ?

1) To check accumulation of land in few hands

2) Rehabilitation of landless labours one surplus land acquired from ceiling of holding

3) To establish social justice
4) All above

aifgeiran RipR STfIfEH, 004 T GERT ST SRR Pivdl el Fefd g ?

9) deH 93 Q) HH ¢ 3) P W ¥) Pe™ 30
The Second Schedule of the RTI Act, 2005 is related with which Section of the Act ?
1) Section 13 2) Section 18 3) Section 24 4) Section 36
GTATAUD! SRIER SRIVR TR NS

31) mifedt fresfivarh ot o= ScleRM ol faedt vur IR 3R,

§) S ATfec MUBRT T AT STifdd ITyaT FaTaaNRiae Jrfgdl 30 fCaarar o @
g IR :

9) Beh 37 @R 3MR Q) Hh § W AR

3) T T § Qeal TN IR g) 31 9 § Qe @I 318
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Identify the correct statements among the following :

a) Applicant has to give the request for information in writing.

b) Public Information Officer shall give the information concerning life and liberty of a person
within 30 days.

Answer Options :

1) Only ais true 2) Only b is true

3) Both a and b are true 4) Both a and b are false

Tifge IRPR BRIGT, 004 IR WieteTieh! DIV PeHIHId S AT SATUDRY, ST AT
OTReARUTTSMT eI 3ot BRI Rciiel ?

q) B &(3) R) Pt £(9) 3) ®eH (e) 8) e 4(R)

Under which of the following sections of the Right to Information Act, 2005, does the Public

Information Officer have to transfer the application concerning another public authority ?
1) Section 6(3) 2) Section 6(1) 3) Section 2(e) 4) Section 5(2)

Tifgciean SIfIpRET 35T RIS HRUATHRAT JITT BRI by 31T ?

q) g ¥ g Aferp R) ¢ T g 3ferp

3) 29 ¥ T 3Ifep g) I PITEl ey ATE
What is the age criteria to file an RTT application ?

1) 16 years and above 2) 18 years and above

3) 21 years and above 4) No age criteria

"aiiReiaT MfIBR’ T 31, DU SIS UIRIaRuNGS 3Rfelett fohar e PRI 3RTelel @
a1 SrferfRmeT v fArssford Juareintt difect fMesfauarar sfepR 3T 3fTe 3Mfor ey —

37) B, BEICY, Aiel it Ul

§) Aeq ST BICHSTIT FHIfOrd el a1 AR

&) AT T SR a1 A=, T A ol

g IR :
9) ek 3T MM § SRIER Q) Hh & SRR
3) Beh 3T RIS 3R ¥) qRIT | SRR 3T

‘Right to Information’ means the right to information accessible under this Act which is held by
or under the control of any public authority and includes the right to

a) Inspection of work, documents, records

b) Taking extracts or certified copies of documents except notes

c¢) Taking samples of material irrespective of their certification

Answer Options :

1) Only a and b are correct 2) Only c is correct

3) Only a is correct 4) All the above are correct
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&) HERTY AIh™idT g PRIGl, 2094 8N Wiellel e R =i -

66)

gV)

67)

faum 1 - AT~ TR HRIEAT Pefd ¢ 3 TUH Uiy TR TgU B PRUIITS! TIC
q fdha carea e Sviive gt gutfar Faete SRt Figeh avet STt USRI Sifiimrarear et
SEACSICIRGR

farerm=r 11 - A7aSTi=Te HTRIEhRUT T CRaRwg SRR FgULT hH PRUTRIIS! aiRS URY UG GiId MU=

SSttuaT T SRTeied ftrprarl FgehT e,

ggift SR

q) UM 1 RieR a1g; 11 ghr ?) faum I SRR a1e; 1 g
3) QI UM SRR 3 8) QeI faur g amed

Consider the following statements in view of the Maharashtra Right to Public Services Act, 2015:
Statementl : The Public Authority shall appoint an officer not below the rank of Group B or its
equivalent rank who is superior in rank to the Designated Officer to act as First Appellate Authority
under section 8 of the Act.

Statement I'T : The Public Authority shall appoint an officer who is superior but below the rank
of Designated Officer to act as First Monitoring Officer.

Answer Options:

1) Statement I is correct; II is incorrect 2) Statement II 1s correct; I is incorrect

3) Both the statements are correct 4) Both the statements are incorrect

HERTY FAlhid] §e SIfAIH, 209Y =T IS SIS el

Gerot| GRS
) B i) Fcer <oamr TR JTRIBR
) W ii) @ISt fohar gepieit ATfeeh ST QUIRIT U h! fadgelt dRaTs
B) Y iii) =TT STfereTRaT e
3) Q6 iv) SHSHTE dotedT Bl &
g IR :
I ¥ &F B
9 i m v 1

Q)i i il iv

3) i ivoi ii

8) i i v il

Match the following regarding the Maharashtra Right to Public Services Act, 2015 :

Section Provision

a) 23 1. Power of Government to issue directions

b) 24 i1. Action against eligible person for giving false or frivolous information
c) 25 ii. Bar of Jurisdiction of court

d) 26 1v. Protection for action taken in good faith

Answer Options :

A B C D
1) i v
2) i i i iv
3) i v ii
4) i i v il
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TERTY AMHAA] T BIIICHIT IR SR DI CIhUATE! RS Wletedehl DIveT PHeTHId PO
3Tl 3?2

q) P 94 ?) BeM ] 3) P N 8) aRIeTh! Pratel el
Provisions to remove the Chief Commissioner under Maharashtra Right to Public

Services Act is made under which of the following section ?
1) Section 15 2) Section 19 3) Section 22 4) None of the above

HERTY SAhRId] Eeh ST HIUdT DGR, J&d YT U@l g Ao ordl ovdedl 3Ted ?

9) P AR ) dHeM 93 3) deM 9% ®) BT 94
Under the Maharashtra Right to Public Services Act, by which section is the term of office and
conditions of service of the Chief Commissioner provided ?

1) Section 12 2) Section 13 3) Section 14 4) Section 15

TERIY dhal g IR, 2094 T IV Forr Idies Wirerarea FREhel defte amg ?

) DT © R) P ¢ 3) P R 8) PH 90

Which section of the Maharashtra Right to Public Services Act, 2015 deals with appointment of
appellate authority ?

1) Section 7 2) Section 8 3) Section 9 4) Section 10
CIGICRCIISR

a) R 30T A ALfS ARSI HepATET 6T U NBEAH S,

b) ot 9%9¢ &Y fAfead AT 3.

c) ot JHTeR gl FepHIg AT sHfde! gk,

RIBUDT PIo /AU /7 SRISR 313 2

q) e (a) R) (a) 3mfor (b) 3) (b) 3T (c) 8) (a) 3T (c)
Consider the following statements.

a) The boundary line between India and china is known as McMohan line.

b) It was determined in 1916.

c) It was prepared by Arthur Henry McMohan.

Which of the following statement given above is/are correct?

1) Only (a) 2) (a) and (b) 3) (b) and (¢) 4) (a) and (c)

AME SIRIBRIEAT ARSI JARAT PIURAT SRAMT ARAF AT RSal 3 ?
a) A9 SIfBRIE SERAMT — 90 f$:.9%%¢

b) F& UHRAT Jifd HSHIATAT FHSAIGET STARRIET oR1d.

c) Higwifoog A4 TR WeHEaredl e ORIIET SR,

d) g Horedl STteRT fawfEr ovm@.

I wiy faer
) (a), (b) 3T (c) R) (a), (b) 3mfor (d)
3) (a), (b), (¢) T (d) 8) Bt (a)
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Which resolutions of UNO have been ratified by India for protecting human rights ?

a) Declaration of Human Rights - 10 Dec. 1948

b) International Convention of the Elimination of Racial Discrimination - ICERD.

c¢) Convention against the Elimination of all forms of Discrimination Against Women - CEDAW.
d) Convention on Rights of the Child - CRC

Choose correct option :

1) (a), (b) and (¢)
3) (a), (b), (¢) and (d)

2) (a), (b) and (d)
4) Only (a)

203-23 T IHSIRITAR, Wleterdehl PIurT I el arer Fafa SR 37Tg 2

q) ORI R) HERTY 3) ey, 8) I

In 2022-23, which of the following state has highest share in export?

1) Gujarat 2) Maharashtra 3) Tamil Nadu 4) Kerala
............. g YRR digee e U iesasl ST,

q) ¢ 7R R) ¢ AR 3) 9% AR 8) R AR

is observed as Indian Air Force Day.

1) 8 March 2) 8 October 3) 14 November 4) 2 October
ST Sfesal.
TSR] SUPHRT T ST
a) Tl (SWATHI) i) godliel dxar damanht g fRisor ugedt
b) 7= (NETRA) i) 983y e aer
¢) 98 (Dhanush) iii) 9= MYP ISR
d) fo=mepT (Pinaka) iv) 3facTe dIh
gl SR :
(@ () (¢ (@
1) (Gv) Gi) (@ii) (1)
)G Gv) () (ii)
3 () Gi) () Gv)
8) (i) (1) @Gv) (D)
Match the following :
Defence Equipment Its purpose
a) SWATHI 1) Airborne Early warning and control system
b) NETRA 11) Multiple rocket launcher
¢) Dhanush 111) Weapon Locating Radar
d) Pinaka 1v) Heavy artillery gun
Answer options :
@@ () (¢ @)
1) (@Gv) (i) (i) (1)
2) (i) @v) (1) (1)
3) (1) (@) (1) (@[v)
4) (i) (1) (@Gv) (1)
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©g) SiedT B
T fore WeeAT I
a) SRAUT-gg TR <1 FaedT (ASEAN) i) e
b) erETS FEAW FeeAT (SCO) i) difomr
¢) Ueifoay fafa axom=am <ot FeeHr (OPEC) iii) Sfeprdf
d) AT} srewifesd it Faer (NATO) iv) feguar
Tt SR

76)

Vo)

77)

ve)

78)

9R)

79)

(@ () (¢ (@
9) (1) (i) (i) @{v)
) (i) (i) @Gv) @)
3) (i) (v) (i) ()
g) (i) () (i) (v)

Match the pairs :
Regional Organiation Headquarters
a) Association of South East Asian Nation (ASEAN) 1) Brussels
b) Shanghai Cooperation Organisation (SCO) 1) Beijing
¢) Organization of Petroleum Exporting Countries (OPEC) 111) Jakarta
d) North Atlantic Treaty Organisation (NATO) 1v) Vienna

Answer options :

@ (b) (o) (d)
1) (@) @G @) @1v)
2) (i) (1) @Gv) (1)
3) (i) @av) (i) (1)
4) (i) (1) (i) (v)

'feg. . STUgrE U Ag ST’ AT JATT @D PioT ?

q) TRV G R) AN BRIYE

3) Yiedg 9T ¥) SI. APRIT TR

Who is the author of the book 'Hindu : Jaganyachi Ek Samrudh Adgal'?
1) Narayan Surve 2) Naganath Kottapalle

3) Bhalchandra Nemade 4) Dr. Shankarrao Kharat

............. g YRR digee e FgUd iesasl S,

9) ¢ g Q) ¢ IR 3) 98 @SR g) R 3AFCIR
.......... is observed as Indian Air Force Day.
1) 8 March 2) 8 October 3) 14 November 4) 2 October

‘I TSieithded 3RS 31 gfear’ (UIDAI) o T3RET &I 37ed ?

9) Feq fesduft ) Mifken =™ 3) dl. ge&RE@ Q) . IR
Who is the Chairman of the "Unique Identification Authority of India"?
1) Nandan Nilekeni  2) Girija Wyas 3) B. Subbarao 4) C. Rangarajan

TERTY SRTSUTIT WaT J&I URIeT (7€ 9) /(7€ &) 033/ 13
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HAt I FFT AT FDIGHT TRBR DIV RABRIS! H@TB 2

q) eIl Dl Q) Prdes ISTS FH!
3) IR g3d IH Q) TS
For which book was poet 'Grace' honoured with Sahitya Academy Award ?
1) Sandhyakalchya Kavita 2) Kavle Udale Swami
3) Varyane Halte Ran 4) Churchbell
ETeflel [GuTreaT SIgeTe arg fsay faer,
faar - 37) 4 3T gRfl 37red.
) 4 gt Sl s,
) PrEl S T 3.
A - I) Prar = arft 3fed.
1) el arft 37e 3fed.
III) e} 3 F M.
IV) |4 cHer 31 3fed.
i SR :
9) B IV R) Wieh 1 fébar I AT Terd
3) &b 11 %) Teh [ STIfOT 11
Identify the correct conclusions from the following statements
Statements :  a) All managoes are brinjal.

b) All brinjals are tomatoes.

¢) Some tomatoes are oranges
Conclusions : 1) Some oranges are brinjals.

IT) Some brinjals are mangoes.

III) Some mangoes are oranges.

IV) All tomatoes are mangoes.
Answer options :

1) Only IV 2) Either I or III only
3) Only IT 4) Only Iand ITI

IFel AT TR dGelel RIS STRIDRI AR FU Wedmar gl FRIh SiTell. @ Wi
SRIfAUTEES U Jrelel dhiosolt arcd. RIarT Alpid! Jicdd TRST 37Te. AT YRR Irel PRI lel ?
) TPR el

R) BTN B DM BT PRUR g GHIDS T F SAVIR.

3) T AlprdT Hed B gfaur qui SR UHIfs T RUTR.

8) 3Te T IRFRUAIT =TT AT FHRIIS AurEl Jae] IR,

You got a government job, but you always stayed in the city. You are worried about the facilities
available in the village. This job is very much required. What will you do in such type of situation?
1) Deny to serve.

2) Unwillingly carry on the job and try to get another job.

3) Get the help of locals and honestly try to achieve the facilities.

4) Console your mind and accept the situation and try to manage the situation.

TERTY SRTSUTIT WaT &I UR1eM (7€ 9) / (e &) 033/ W
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gTefidt Arfeciaed T STR & -

31) TS SN TeIFt Thersdt Hid Bt 90 ARIBe SR fohar ot 3TR.

§) TIF A g B U8l 90 ARIG HHT TR

%) TeIF B g C Y&l 0 Ardhe PHl TR,

g) ¥9™ D 2 E U8l Yo HRIdhel SR 37Tg.

) %99 E g F U8l 90 ARdhe™ SR 372,

%) %2 F 8 B U8 30 ARIDeI PH! 3R,

C g E TIFAT T PV TIF PRI axard ?

g IR :

9) B amfor A Q) BT F 3) B amfor D ¥) D amfor A

Answer the question with the help of the following information :

a) Each radio station transmits a frequency which is at least 10 cycles more or less than that of
another station

b) Station A is 10 cycles lower than B.

c) Station B is 20 cycles lower than C.

d) Station D is 50 cycles higher than E.

e) Station E is 10 cycles higher than F.

f) Station F is 30 cycles lower than B.

Which stations are operating between C and E?

Answer options :

I)Band A 2)Band F 3)Band D 4)Dand A

feeTerr g9 ST T SR fsaugrardiear Hifgdi quid awumRT Saia ISRid i Fasr.

FoHTT IR S HIgOlt hedHeR S, U, A, D 9 B ATchier Haid a¥orT R ST AUTRT U Jeve] e,
Hifeeht :

a) A g S d B Ue aoFrar e 3nfor U v oY goiFmr iR Y [ aoiFgR ATl

b) B &b S UeT ISR 3.

Tt SR :

q) (a) g (b) Tal AT TCH 3MGIF T R SR,

Q) eh A1l (a) Rt 3fe Wy Afedt (b) ATaeTD Ta.

3) SR teh ATfeat (b) Ref aFetl oRT Beh HifRcl! (a) qReft AT

8) TheR (a) fhar (b) Reft o

Study the question given below and select the most appropriate option that describes information
needed to get the answer.

Select the metal piece that is third from the top when arranged in the descending order of their
weights among S, U,A,Dand B ?

Information :

a) Aisheavier than S and B and is less heavy than U who is not the heaviest.

b) Bis heavier than S only.

Answer Options :

1) Both (a) and (b) necessary and sufficient.

2) (a) alone is sufficient but (b) is not necessary.

3) White (b) alone is sufficient (a) alone is not sufficient.
4) Either (a) or (b) 1is sufficient.

TERTY IRTSTUT WaT & TRET (e ) / (8 &) 023/ Y
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hICIhs I SREAT SeTl, ST FgUlTetl ' "hIciiiel Jerll & AISAT AR LU TS Thered Th
T qrprdl afgelt T e STt Heser JMed.”” St Py fawt deett ?
q) STl I Q) sl 3) ST qrash ¥) rffead

Pointing to a photograph Ila said to Isha, "The girl in the photo is the first daughter of the wife of
the only son of the grandmother of my elder sister, who stays at Mumbai." About whom did Ila
say?

1) Ila's sister 2)1la 3)Ila's aunty 4) Uncertain

A,B,C,D,E,F 3fir G I1 S<hl TChRINTG! ag@ihR caeHiad! IREURRHAR §9edT 3ed. C g D a1
Q=g E =1 95T 311eet. A 8t F =1 Sreliebs i 312, G & H =1 Soeiiens gt 3Te. B 2T SUMRIGU
GEN T TRt faus e,

9)SR A B G T IISIcT Seiel 3Rid @) b B & F 21 AIRY 3.

) B & TR D 3Mftr F =t fdhar C oot F =1 9Tt 3.

3)F & E =1 edids o) 3Riel @) B 9 ®IH fAfeud gigar.

8)C g D Iiet "Heh! T feeiel e . o T [fegd a=ar Id @,

A, B, C, D, E, F and G are person sitting around the circular table facing each other for group
work. C and D both are neighbours of E. A is to the immediate left of F. G is second to the right of
E. Select the statement that is certainly not true with respect to position of B.

1) If Aiis sitting next to G then only B is the neighbour of F.

2) B can be either neighbour of D and F or C and F.

3) Position of B gets fixed if F is third to the left of E.

4) B's position cannot be fixed as exact positions of C and D are not given.

géler refiRiaeieh wifech o Qardaeie fGum sr=mar sifor gl Fey faer.
e 'A @B’ U ‘A, B Uel dlgW aefla B a1 aHME! A&

e 'A* B’ Tgunt ‘A, B Uar oig™ qefta Aidte A’

® ‘A %B’ TS ‘A, B U &g asfia B =1 AHa ATl

™M : P% Q;Q*RaMIR@ S

A : DS %Q IHP@Q IR @P
g IR :

9) Bk (1) I . R) Bk (I) 3mfor (I11) ? I 3T,
3) o () T TR ¥) Beh (1) I 3R,

Study the following information about mathematical natural quantities, statements about these
and select the valid conclusion.

e 'A @ B'means 'A is neither smaller than nor equal to B’
® 'A * B'means 'A is neither smaller than nor greater than B’

® 'A % B'means 'A is neither greater than nor equal to B’
Statements : P % Q; Q *RandR @ S.

Conclusion : DS % Q. IIHpP@AQ. IR @P.
Answer options :

1) Only (II) is true 2) Only (I) and (III) are true

3) Only (I) is true 4) Only (III) is true
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¢¢) SR A=E,B=F a1fd1 C = G, ® 'GO AHEAD' ¥ Wichfcieh Y Tral P Il ?
9) KSFLIFH ?) KSELIEH 3) KSELIGH ¥) KSELIEG

88) IfA=E,B=FandC =G, then how will youcode ' GO AHEAD'?
1) KSFLIFH 2) KSELIEH 3) KSELIGH

4) KSELIEG

¢R)

geARIgrean 3wl JumRt Hwam e

136

74

69

105

101

85

9) R

114

2) ¥

89) Find the missing number.

136

74

69

105

101

85

12

114

2)4

3) 0

3)0

41

R0) ficican sngeardt S/g® el .
3 g B g 3
g SR :

9) e, d Q)P, § 3)P, 3 ¥) 3, 3
90) Pick up the correct pair of diagrams.

©e089

Answer options :
1)a,b 2)c,d 3)c, e 4)a,e
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9,%,3,8,4,% IT eI BRI PIURATE! 3febrdl ARIGTT 7 PR Tl Mo IR 3ieh! FT IR
gl ? Tl fohd TReaT AT 8000 Vel HIGAT S ?
) V0, 9?0 ?) 300, 980 3) 3%0, 980 8) 3€0, 9¢O

How many four digit numbers can be formed without repeating a digit from
1,2,3,4,5,6?How many of these will be greater than 4000 ?

1) 270, 120 2) 300, 140 3) 360, 160 4) 360, 180

SRa:b=:3,b:c=4:¢aMIc:d=:9RTTa:b:c:dara:dmer ?

9) 90:99:93:93 3701 90:93 ?) R:90:9Y4:93 37T § :93

3) 90:94:9¢:R 3T 90:% ¥) 99:92:93:9% 3Mfr 99:9%
Ifa:b=2:3,b:.c=5:6andc:d=2:1thenfindouta:b:c:danda:d?
1)10:11:12:13and 10:13 2)9:10:15:13and9: 13
3)10:15:18:9and 10:9 4)11:12:13:14and 11 : 14

e RS £0% U SM0T dHeedT HIRIIST 4% dudTd! A dhell. =T giard . 9,¢00
forges aed. @) o fbet o0 @ et ?

9) 3. 90,900 ?) . 90,000 3) 3. 90,200 ¥) ¥. 90,9019

Madhavi invests 60% of her money in machinery and 25% in raw material. She is left with Rs.

1,800 cash in hand. How much money did she spend?
1) Rs. 10,100 2) Rs. 10,000 3) Rs. 10,200 4) Rs. 10,101

T AT 84 AfSerd a1 snfor § Teommeficr go .. 3R UR oxa. SR Smmnskar o aneft 4 . H a3
PH) Pefl, T T IR IR PRUIRIIS ST ARy fhdt 9o e ?
9) g¢ fafe Q) co fafye 3) ye¢ fafre Q) wg fafe

A train covers a distance of 60 km between stations A and B in 45 minutes. If its speed is reduced
by 5 km/hr, how much time in minutes will it take to cover the same distance?
1) 48 minutes 2) 60 minutes 3) 58 minutes 4) 46 minutes

AR A TS dM 90 fegward quf axdl, 9 THed M B & Jediel =8U 8, B d9 &M 30 faard
qui Al T Qe e B qut Rugrl Mo gdeT. S ey fad! feaara o e duedies ?
)6 21— )R+ 3) & g) 8 4

B Y Y B
Painter A can complete the work in 10 davs, but he has no time, so he takes the assistanceof B. B

can complete the same work in 30 days. Now they decide to work together. In how many days will
they complete that work?

n7-L 223 362 445
2 5 5 2
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97)
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98)

’%)

99)
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TehT GIGRM ¢ T 118 feepd eicfel STIfOT AT .19 T fefepet. 3Tel careaoTds febelt febeliie g 3mae ?
q) 3R fheam R) 3% fham 3) 3.8 febeiim 8) 2300 T

A shopkeeper bought 8 tons of wheat and sold 5.7 tons out of it. How many kilograms of wheat is
he left with now?

1) 239 kg 2) 234 kg 3)23.9kg 4) 2300 kg

3FR, IR T ST T 9 THIRIST AAGRIT T TR GO bl IRA 9 STHARISBT T 3000
TdeS, STdeR g M ST T 4000 3NN T €000, IFFHH 9 S T 9 ARSI Jode. qutear Jact
AT X 8920 DT BRIGT HSG ST YT e Yqauhrar fohell smier fies 2

9) % 900 Q) T 9Q¢o0 3) ¥ 9300 ¥) T 93¢0

Amar, Akabar and Anthony form a partnership firm on 1st January. Amar invests his ¥ 3000 on 1*
Januarv. Akabar and Anthony however invest ¥ 5000 and t 8000 on I** June and 1* september

respectively. If the protit at the end of the year is ¥ 4120, how much anlounl will Anthony get as
his share of profit ?

1) ¥ 1200 2) ¥ 1280 3) ¥ 1300 4) T 1380

Teh A0 94 {357 Sfamiens aremar St FeR Sories awdr. AR © 6., efedHaR af SiHids awdl
3T 9 5. HT. =T, ST AT SIRY RISTIRET Al DIVRAT AT TR ?
q) ufFeH Q) cféror 3) U ¥) e

A man walks 15 km towards south and then turns to the right. After walking 7 km he turns to the
left and walks 1 km. In which direction is he from the starting place now?

1) West 2) South 3) North-East 4) South-West

AT QThIM STAT ST BIATAT SICieR AT ISl FodTd dhell. AR 9, ToHIER 2, HegHaR
3, SR 8, PIT@IER Y HISH A Iele el SFIHBR &, TEIHaR 9, Toivlar ¢ 30T SR
R HITel & Yrgl doiHler 90, HEGHAR 99 ATHT0N Foroft dheft AT fARIE g A1 ge SiTd SF1fHdheR 0
ISRIT ASTel. SR dl el Aol R e TR 094 ST AT SR e e,

) TEIHT R) aiHT 3) 3eT 8) ST

7 year old Shafi began to count on the fingers of his left hand. He started by calling thumb 1, the
first finger 2, middle finger 3, ring finger 4, little finger 5 then reversed the direction, calling ring
finger 6, middle finger 7, first finger 8 and thumb 9, then back to the first finger 10, middle finger
11 and so on. He continued to count back and forth in this peculiar manner until he reached to

count 20 on his ring finger. Select the finger on which he will count 2015 if he continues counting.
1) Middle finger 2) 1* finger 3) Thumb 4) Ring finger

TERTY IRTSTUFIT WaT I TRIET (e 9) /(1€ &) 033/ 9
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900) WTeldl SMMGAIGUTT DIV U™ /faum /e 318/ 3imed.

31) RY frepror 3nfor 95y IR
§) 900 fdIT 3T Qo TR
@) 900 AP, 98y AR M QY 3T

3) &¢ T

3) AT ThEl 3D AR

g IR :

9) Wh 31 ) Tth 3T § 3) Weh 3T ¥) Beh 3

100) Which statement/statements is/are correct about the following figure?

a) 95 triangles and 165 squares

b) 100 triangles and 90 squares

c¢) 100 triangles, 145 squares and 95 rectangles

d) 68 rectangles

e) None of the above is correct

Answer options :

1)Only a 2)Only band d 3) Only c 4) Only e
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HERTY SIpAdT RN
TERTY SRS Wl G W& (TS /) TRIET e [l

YR SHHIh — Q : AT &THdT Il &% (9)

99-% QR-9¥ Q- P8-< 94-3 %9 Q9-¥ Q-8 R-3 20-3
R9-3 RR-3 R3-9 RE-Y 4= RG=R V-3 R¢-19 R-R 30-19
39-1 3-3 33-R 381 38R &R 3v-19 3¢-3 k-8 8O-?
89-3 8- 83-%Y 88-19 84-3 8&—19 89=3 8C-R 8R-3 40-19
49-3 4-19 43-% 48-3 44-9 4&-19 49-3 4¢-R 4R-% &0-%
&1-3 &1 &3-1 &8-% &4-3 &&—1 EO-¥  &¢-9 &’-3 90-3
v9-% v-3 v3-9 V8- VY- V&E-R vo-3 (T vR-19 ¢0-3
¢9-3 ¢-3 ¢3-9 ¢8R 4-% &% C¥-3 - ¢R-3 Ro-3

R9-% RR-3 R3-3 R¥—-19 R4-19 R&—=% Y- N RR-19 Q00-%
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HERTY 3RTSURAT HaT J&g Wil (e ) / (1€ &)
YR $HHID — 9 : FRISH 9 SUS

9) HRIST U (40)
AIAHT eI /Y
I/ 93
STHROT/ 93
et 7 arpyER (31 g SWI) /Y
SIS TR/ Y
() SIS 9T /Yo

CommonVocabualry / 10
SentenceStructure / 20
Grammar /10

Use of Idioms and Phrases / 5

(10) Comprehension/5

YR I — 3 : AT 31t g g gravit
AT gfGHTI T 3TTdhei /90
T TSMIS! — STATRI aHd AERTERIE YRS / 90
3iepTfore Tfor |if&adht /90
31) arfgd e srfiffam, 2004 /Y4
9) HERTSE AlhdT g8, 2094 /Y4
YR FERTSY FIRAT, ISTESH], ST WRIST FaRAT, PRIGR! 450, qIHss, fAdivses /qy
37) YRATE g HERTEMET FNS /90
) gafeRor /4
AT fAsTe g 9% /9y -
31) Yifdmemra (fhforerT) /2
) AR (HA) /2
&) Toftemse (Sq@istt) /R
3) TR (diest) /R
3) XAAG, §ATS 9 3 BRI, Hiniferes Tifgedt summedt & Qe Swer /2
%) HIfgc! T WONOT G757 /4
3refeaven g Ao, fawr fvaes srefeme snfor et /9y
q) sTIerett sreferre, fawT fawe arefarmat /&
Q) YR 3refegawe anfor gt /]
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HERTE, IRTSAET Hal J&d WRieT (12 )

Maharashtra Non Gazzeted Services Main Examination (Group B)

-: URTET QT -

Tyt e WA - g Ut #.-{ - R00 U
UG F.-3 - Y00 0T
Ly R L L

TR =0T F oTEd - e e 39 FRie qemtr
(IATYeR TR - Roo TUT, HETEW - ¥o TU)

UMY *, @ g | wvrEen | wor| g | wem | wlteen | wweuneed
ek AT e
% TR 4o | g%oo | FRMEN | WEI TR
(R 2053) = o [Roo | w | @ | o T
3 A 37 WEd | uhaw TS
(AihE 2083) | agfgEar | %0 R0 wEEr | g T
et
TR TUTET -

%) T ehTeAT SANTERIAT 3G ERAT 8/ U T[0T U U F e AT A,
%) IR WYATE UETIET 31U 3T TR ST STEl v SHEANH SR U A e el T
F WY I TR THAUITT A3 w1 WEATEAT IOIRar Y% TSR 3y waw T U O a e
3) FUATHI FTETEATET AT FAAAT TFOT FH 0T ST SO AT A0 A U T 3
) WA WoTe 377 SR 3Te Y, 3197 WehTvTl FahRTedh T THd @1 SR e,

- AEHHA ;-
UOT FHHTE - § - HATEL, SUAT 91 fauaTaed |t 9w/ IUNSEHTET WHIEYT ST,
A, g
Y | WS ;- e YR, ST, ST, T & T e 314 37T SUanT a9

K E’Zﬁﬁ : = Common Vocabulary, Sentence structure, Grammar, use of Idioms and phrases &

their meaning and comprehension of passage.
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HENTE, SRS 9T W& WIET (12 &)
(WeTa® AR ate e ug anas g UgiRdi)
Maharashtra Non Gazzeted Services Main Examination (Group C)
(Al posts excluding Assistant Motor Vehicle Inspector Post)

-; OETeAT qrT ;-

relt e - 2 ﬂ'ﬂ?ﬂ:‘.-?-?onqm

qqy #.-R - Roo TOT

T&0 - ¥oo T

U ®. F fTwa | wowgEm | oUW | g | WeRw | wdeen | gy
? HTE Lo foo AT It aﬁhﬁ
(AT 208%) o W e T o | :
3 AT ST | ] o MR | tHaH T
(AT L08Y) Ffl%‘ﬂiTﬂ'l‘ﬂ“ﬁ Roo J00 STt : .o
AEHWTHSE TUET - i

{) T I STERAAT 34 % T 4/ Tas 07 U1 OTHYA S ) ST ddi.
%) TR WU UEITE] ST 3 5 ST SEl S SHEARN SR YU S TSR el TH
TN AT T A TSV T o eI FAEa Y% e o wae T uan Yoy S/
3) FTFVHIN FEITHATT e BT TH SiTaw Tl i SIS ST AEt 77 s T J
| ) TR WA IO ST S T, ST W AR T TeE T S AR,

-1 AN -

U7 T - ?—mﬁ,wﬁmﬁmmﬁﬁaﬁfww A,
Bk T
Y | WIS - HEwH YT, AT, SR, T o AT dreT 374 30T S99 949

? E‘Jﬁ'ﬁ : = Common Vocabulary, Sentence structure, Grammar, use of Idioms and phrases &

their meaning and comprehension of passage.
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HERTY RIS a1 9 WA (€ ) / (1€ &) 033
YUR hHIh —  : AT &HdT ol AR STRIRIh

HRATIT § HERTETET MG /90
qIfaRoT /Y

A s 9 === /9y
31) Hifdepeme (fhfiores)
§) RIS (BERT)
D) ORI (SIeioi)
3) gufare (STe)
3) XS, g8 9 I BRI, WNifeies HIfg! HoTTe! & <ard Iu T
%) HIfet I AU FASTH
3referaen g Ao, fasr favae srefere anfor et /9y
37) Aauel srefee, fdarT fawae srefame
) YR 3rfegeer SAfor gt
YR HERTST SFGRAT, ISTLSH], RS FRIGT FaRRAT, HRIGR] Hsss, RHss, fatiHss /9y
Arfge rferpR rfffam, 004 /Y4
TERTSE cllcbRidT g2, 094 /4
Teg TEMIS! — ST q¥id AERTERIE YRS /90
AT gfGHTIT g 3TThelT /90
3iepTfore Tfor |if&adht /90
(9) YRATE @ HERTETE NS /90
TERTEFT 9 YRAWT HIhiid s — Wb, HRlfeld Iahidl 4 i
fafder spu, gdd Sl R - <ahea, I, foRaR, =1
T Ui faum - e, 3eM, fFRUg), UoR, WG, P, JC
SAMMLARE, YS9 d AaH=
oIl fameaR 950
T - RO 37T R Uapew
“fiie Fucht - a1, ol — SR TR, T fud
@for 3nfdr St e, anfies et — dTeqes SN wied, Ien, R
ISTHIT fAYTT, MBIy faamT — TSy, STt Smfor der, T enfor T
el g AHEIND Y5 — BIpARET, SAIhad TR d I IH I SEEYMERIeT IR |, I
T g s, AU 9 A T

ﬁvﬂzﬁwwu?ﬂ%rﬁmﬁﬁ Wﬂ?ﬂﬁﬂ‘c’i‘li\’w
faferer TepRelt Tguor 9 feRufter SRt
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Q)

Q¢)
aR)

0)
R9)

N)
3)

?9)
)

Q%)
Q0)
W)
R)
30)

39)
33)
33)
3%)
34)
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30)
3¢)
3R)
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A T  gRa g
TIfeRUT eI PRG3RI I /RMF/ SR Tdedtariel FeeHT d Hel

(3) M= fas= g e /9y
31) Yifdmemra (fhforerT) /2
TS, ISUICT, g™l — Heh1e, eal, fagfagaena ofgsl
ferggeremet, aehed, TS, WRS 37 RIS e
) AR (HA) /2
STEIRUT — I, 37T, &R, 3T, S, I, &l
MR Sk, Afcy SRR — RIS, Hlch19d, se-
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